|\‘-E-%
1. 'The ’ inf
_lu highest rainfall place Mawsynvam 15
sttunted in the

L":] Ginro Hills
(C) Lushai Hills

Find the missing term in the following series,
8, 24,72, 216,

(A) 252 (B) 648

(C) 328 (D) 272

3. Which of the following Articles of &

the Indian Constitution deals with
Right to Education 7
(B) 21 A

(A) 41 B
(C) 561 A (D) None of the above

(B) Naga Hills
(D) Khasi Hills

ts

4. A cubeiscutintotwoequal parts along a plane
parallel to one of its faces. One piece is then
coloured red on the two larger faces and green
on the remaining while the other is coloured
green on two smaller adjacent faces and red on
the remaining. Each is then cut into 32 cubes
of the same size. The 64 cubes are then mixed
up. How many cubes have two red and one

green face ?
(A) 4 (B) 16
(C) 12 (D) 8

5. Agot 30% concession on the label price of an
article sold for Rs. 8,750 with 25% profit on

the price he bought. The label price was
(A) T 12,000 (B) 2 10,000
(C) ¥ 16,000 (D) T 13,000

6. Whichofthefulluwingisthewatercanducting
tissue in plants ?
(A) Xylem
(C) Parenchyma

(B) Collenchyma
(D) Phloem

7. P is brother of Q, R i8 the sister of Q. How

P is related to R 7
(A) Uncle
(Cy Brother

(B) Sister
(D) Data inadequate

B, Whueh of the following is not the Sustainable
ul“-*‘l'\*mmunl Goals (SDG) of the United
Nations (UN) ?

l.:’:] Gender Equality
|:\ Na Poverty
‘\l fﬁn, H“t‘ii.'_l*'r

“‘LIL

LI
i oty R —

A

-2

CMEH - Sﬁ

watias anl are ware o wwi Fun o 7
(A) it werfaai (B) Fmm erfai

frafafan o d qa w1 fifw | -
81 24172* 2]5, ' "

i e (B) 648 %g

) 928 D) 272 Ebdg
g wfaur & Fefafas 4 8 +9-a1 i
faneq aaferan & gafua 2 7 gon
(C) 51 A (D) 7 ﬁiﬁéﬁ

@mm‘ramwﬁﬁmwmﬁq&ﬂ
T & gfen Fe S 2 | i R A
q&ﬁuwaﬂwﬁ!mﬁhﬂﬁnmh

qﬁ%atﬁ%mqﬁmmﬂﬁﬂ!m%
& T e 8 | R TR F) G SER & 82
i rer ST 21 36 @< Bl 64 A & e
st 2| e == ¥ 21 e 3 O R

(A) 4 (B) 16
(C) 12 c (D) B
aifed Hed W 3ueaﬁqaéamﬂaﬁﬁ‘aa
= a.TﬁuﬁaEﬁnéamzamqfum 5% HLEA™
e ™ ?z 10,000

2,000 (B) T 10,
s (D) T 13,000

(C) T 16,000
ﬁﬂq-ﬁqﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁ

fniferfiad |

(Miﬂﬁ“ (B) anawﬂ?ffm

(c) FEFTEHl (D) A -
P.Qmﬂﬁ%. R,Qﬁmmp.nﬂﬁmm
Fafua 2 7

(A) "H1 (B}ﬁi-:;‘

(C) T (D) e A
ﬁﬂﬁlﬁﬂﬁamﬂmwm(w}ﬂm
ﬁﬁmﬁm(mﬂaﬁ)qﬁ%?

(A) fom aardl

(B) adl

() dMER

tmﬂiﬂﬂﬁﬁaﬂiqﬁ
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10.

11.

12.

13.

14.

15.

16.

Rahul, Amit, Prakash an

of Ram, Sunil, Pratap gn%aulgl;n?;e ot
necessarily in that order. Each fathzll: }I:Ot
only one son and the names of any father a acsl
son pair do not start with same al habnt
Prakash and Gaurav are not the Isaons e0:1‘

Sunil or Sammer. Sameer is
s not
of Rahul. Pratap’s son is the father

(A) Rahul (B) Gaurav
(C) Prakash (D) Amit

in an OS (Operating System)
refers to the process of managing various
devices connected to the computer.
(A) File Management
(B) Memory Management
(@) Hardware Management

(D) Device Management
Who discovered Peru ?

(A) James Bruce
(C) Francesco Pizaro

(B) Jaun Cabot

(D) Mungo Park
Out of 10 teachers of a school, one teacher
retires and in his place, a new teacher of age
25 years joins. As a result, average age of
teachers is reduced by 3 years. The age (in
years) of the retired teacher is

(A) 50 (B) 55

(C) 60 (D) 58

In a row of girls, if Seeta who is 10™ from
the left and Leena who is 7% from the right,
interchange their seats, Seeta becomes 15
from the left. How many girls are there in
the row ?

(A) 17 (B) 21

©) 22 D) 20

Green Revolution in India started in the year
(A) 1998 —1999 (B) 1978 — 179

(€) 1967 — 68 (D) None of the above

In a certain language, TARGET is coded as
202018751, then BITCOIN will be coded as

(A) 2015149392 (B) 2011549932
(C) 2015194932 (D) 2015149932

aims to boost employment in formal
sector and incentivize creation of new
employment opportunities during the Covid
recovery phase. _ _
(&) Atmanirbhar Bharat Rojgar Yojana
(B) Indra Dhanush
(C) Ayushman Bharat
(D) MNAREGA

o,

%

| 12.

15,

-~

15.

16.

Do
W I';.Jf' ’1;

B

CMES - S6

. s, s i e, T % R & FN
mmﬁtaﬁza@qﬁ%aﬁwﬁﬁlmﬁm
<1 e o 8 g & ol ol of R AT A
@@%wwﬁawﬂ%ﬁ@%%'maﬁ
Tﬁﬁgﬁamm%gﬂ#ﬁﬁlwf@mm
Y AT HF PR ? .
A ¢2))
Ec; 4 (D)
o 08 & a1 e Fege @ 9 T
Ffadl gﬁﬂ?ﬁ?ﬁﬁﬁﬁv’mﬁ%“
(A) FTFE SEE
(B) AWt WeE
(C) erEaut Jd
(D) IR S

7

AT @
© wae e (@) I
e & 10 et # § T e 3 SO
2 ofR 3% WH W 95 o€ 39 &1 T T TE
fragea B & | e afomear g 1
3 saﬁmﬁrm%wﬁﬁ‘mﬁqﬂ&%ﬂw
et & (@ H) 7
(A) 50 (B) 55
(C) 60 (D) 58

e i wh e 1, 2 g sd & 10
Yo 7H R, I
% Qe 15 9 Qs & | 9 e

(A) 17 B) 21

‘C) 22 (D) 20

e 1 gfed shifd i yE R |

(A) 1998 — 1999 (B) 1978 - 179

(C) 1967 — 68 (D) I | T IS AL
we T, TARGET ! 202018751, % &9 4 e
s fF ST 8, @ BITCOIN i & &Y
% e g, o s |

(A) 2015149392 (B) 2011549932
(C) 2015194932 (D) 2015149932
FT A HIGS A TS FGRA
sl & # Ao # afg FE 3R TU AR
STl ) AreaTied e Bl
(A) :&_Il?ﬂﬁﬁ'{ WIS TSATR T
(B) T=a™
(C) MYSIH MG
(D) AT

T22
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17.

18.

19.

20.

a1:

22.

T22

moves towards north-west a distance of 7 m
and finally she moves a distance of 4 m
towards east and stood at that point. How far
is the starting point from where she stood ?
(%) 3m (B) 9m

(C) 10 m (D) 4m

In what proportion must wheat at Rs. 1.60
per kg, be mixed with wheat at Rs. 1.45
so that the mixture be worth

__per kg,
E“:‘;ﬁs 1.564 per kg ?
) 23

(B) 4:3

(C) 3:4 D) 3:2

Cardiac muscle tissue is a contractile tissue
present only in the
(A) Both (B) and (C)
(C) Lungs

(B) Heart
(D) None of these

The earliest composition in English
“The Canterbury Tales’ was composed by

(A) Dante

(B) Geoffrey Chaucer
(C) Giovanni Boccaccio
(D) Miguel De Cervantes

Diabetes Insipidus is related to the hormone
(A) Oxytocin (B) Insulin
(0) ADH (D) FSH

Read the data given below gnd
based on it answer the following

questions.
Six classmates : Aisu, Rakshita,
Sammy, Sheetu, Varsha, Yogi are
to be seated in a row facing North.
+ Aisu prefers to sit in corners and will
sit next to only Rakshita or Sheetu.
» Rakshita is to the second left of Yogi and
likes to surround herself with people.
. Sheetu is to the third right Varsha.
Who is sitting to the right of Yogi ?
(A) Varsha (B) Sheetu
(C) Sammy (D) Aisu

Lata moves towards south-east a distance
of 7 m. Then she moves towards west and
travelled a distance of 14 m. From here she

17,

18.

19.

20.

21.

22.

EE

wrar gfaror-gd 7 7 #1. I 3 Iﬁtqﬁﬁqﬁ%

147 At a8 | FE | 7“‘“-3?“%%;1]
et § i 3t 8 T F 4 R AT,
ﬁgﬂ@@ﬁﬁﬁﬁﬁ%lwaﬂ@ﬁ%a‘ﬁém&m
fag fpam gz ?

A) 3. (B) 94i.

(C) 104 (D) 44

5. 1.60 Sfa frm. TAF L A =, 1.45 3f% iy 3
g a1 forer et # e Sme A o5,
wfe form & <mass 81 sy ?

A) 2:3 B) 4:3

(C) 3:4 (D) 3:2

& Ueft Tk U TlgheT g7 s 2 W

Faer f= 8§ g g 2

(A) (B) 3R (C) 3T (B) fm

(C) ¥%e (D) 779 & ¥ ¢
ISl Y gdvYH @A T el e
TR |

@A) T

(B) % =Hial

(C) frafrash siemfera

(D) firpare < w@

srafedr wfifem e A
(&) SAIRE (B) ¥gfH

(C) ADH (D) FSH

faw e = =ter S N T4 T A

= gl & IS
Ezﬂﬁmiéﬁ, TF&THT, &, gﬁg,aﬂfaﬁ(?ﬁ"ﬁm

e A3 B

f@ﬁﬂﬂ;mmm%aﬂtmﬁmm
3ftg % e 7 S
xferar, gt 3 wrd AR
it & R @ TEE ®

. gitg, a9t % ard 3 2 et T W R
2t & e A A R 7

(B) g

(A) aui
(C) T D) ¥

@i 2 A
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23.

24.

25.

26.

217.

28.

29,

__ are added to grab the audience’s
attention as well as to reinforce the point
that needs to be highlighted.

(A) Animation effects

(B) Package for CD

(C) Screen views

(D) Transition effects

Fixing the maximum size of land which could be
owned by an individual is known as

(A) Land Reforms

(B) Co-operative Farming

(C) Land Ceiling

(D) Zamindari System

PM-SAMPADA Scheme is to

(A) Enhance oil processing sector in India
(B) Enhance vaccine production in India
(C) Enhance fodder processing sector in

India
(D) Enhance food processing sector in India

Choose the best answer based on the given

conversation. "
Host : So here you are at last. Efﬁ
Guest : Hope I am not too late. i m
What does the guest want to convey ?
(A) He wanted to reach late

(B) He knows the host doesn't like his

coming late
(C) He hopes he is on time
(D) He knows it doesn’t matter even i

late
The most distinctive feature of echinoderms
is the presence of
(A) Blood vascular system
(B) Water vascular system
(C) No vascular system
(D) None of these

The most densely populated Continent is

fheis

(A) North America  (B) Africa
(C) Europe (D) Asia
Components of RFID are

(A) Reader

(B) Both (4) and (D)
(C) Neither (A) nor (D)
(D) Processing device

-5-

23.

24.

25.

26.

217,

28.

29,

CMES - S6

1 shvadt 1 st & g @ @
mwﬁaﬁgmsﬁzﬁmm%ﬁﬁﬁéﬁm

Sirer s 21 ]
(A) TFETH 74E Eﬁ”ﬁ;
(B) Tt ¥ fore ¥ @h2
(C) B,

(D) e 99T
qa;a:fa“amfﬁﬁmr@mﬁm?ﬂ wffts % AR
ateR 1 fAfea m_____aﬁfﬂﬁf%l

(A) 9 g
(B) Tl F19

(©) 1 €
(D) Sfer soref

PM.SAMPADA a1l __ Hfmd
(A) el et SR &7 e

®) wTeq T 21T SR & e

(C) ) & <IRT SR & 1 e

D) mﬁ@muﬁwéﬂaﬁm
aniameﬁa%mqwaﬁeﬁﬂmﬂﬁ'
e @ o AR AT |

fefy ;3 R AR A R TG 8 |

27

(A) & & g SrEdl & _
(B) T & o6 B ) IEH QU A T

e
(C)sﬁ:{uﬁa%f”m'aawqt%
D) 7 ST & o6 3ER IS Feh e 994

a8 e = A8
ﬁ%ﬂﬁmﬁﬁmﬁmmﬁm@ﬁﬁ

Bt ?

(A) @ afea Someh!
(B) Wit aTfeet oTedt
(C) 1§ arfeant worreft Tel

(D) 3 @ F¥ TE

Fa it STl drel HETEY B

(A) It STfRT (B) AW
(C) 309 (B) fREn
RFID % UeF &

(A) =t

(B) (A) @it (D) At

(C) 48 (A)F (D)

(D) wrirfam feamgw

w8

T22
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30. Select the correct mirror j £ : : -
& IGINE!
C2%
e
A s P
" k. 3
[=1} ¢ % : @p_ig
ey @£E (B) @[ S
(L= ors & ®)
i ———
I
| &% © ofdE o
81. If (x - 4) is the H.C.F. of (x* - x — 12) an
, C.F. of (x* - x — d 31. IR (x® — x — 19) it (x2
(x* — mx — 8), then the value of m is > ) ¥ (* — mx — 8), F gy
(A) 0 (B) 6 % ('—“—@%,'ﬁ‘fmﬂ'ﬂ'tﬂf{ﬂm‘@rrn?
(C) 2 D) 1 (4) 0 (B) 6
) ©) 2 D) 1
32. iE ;vhicél I-nEthids the hard seed coat is 82. s FfShaan & o mef, e, gl adzr s
scflpgetotialr:ae]? t}inEd bg';na:chme, l:l?ammer. fou i a wende e o e Rar e
i S o Ricec cormaneyt A1 FHES o sar R 7
(A) Ca.r : ication (B) Vernalization (A) ERITREFTH (B) Seiresrym
(C) Chilling (D) Stratification (C) fafem (D) Rfeftrrm=
33. The non-paying users of the public goods are 33. ﬁgﬂi A & IAHEH Sl Sl
called |
(A) Public protectors (B) Rivalrous (A) eI @F (B) wirepdl
(C) Free-riders (D) None of the above (C) H=d ==Y (D) I H F HS T
34. Who is the current Chief Justice of India ? 34. WA % IAAH T e we E ?
(A) A. M. Khanwilkar (A) T . THEEER
(B) N. V. Ramana (B) . 1. T
(C) D. Y. Chandrachud (C) €. =15, =553
(D) None of the above (D) 9= ® | 1§ ARl
35. In Document view displays text 35. mﬂﬁh—.mmmmﬁ '
with character and paragraph formatting, & 919 913y W%Whmwﬁﬁ@ml
but does not show headers and footers. T B) deried
(A) Normal view (B) Thumbnails (A) > L (B) T {
(C) Print layout view (D) Web layout view (C) Frreeme =g D)
36. 5 — 8% solution of acetic acid in water is | 86. @ § Qe 37F H 5 — 8% fowrm ___—
called FETar g |
(A) Vinegar (A) fam
(B) Glacial acetic acid (B) e ufafles av<
(C) Muriatic acid (C) =gfrafess 3=
(D) Carbonic acid (D) Fratfah 3Tred
T22 B
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37. Ifbelow letters are rearranged, the meaningful

word formed is TAOBIROPN

(A) PROMOTION (B) PROFOUND
(€) PROBATION (D) PROMINENT
Inflation is a state of
(A) Low prices

(C) Medium price

38.

(B) Rising prices
(D) High price

39. isa Presentation containing

sters with custom formatting

: : 'chenme. placeholder for text,
graphics, animations and s on,

(A) Auto space (B) Toolbay
(C) Template (D) Auto content

40. Expansion of U.G.C,

(A) University Grants Commission
(B) Union Government Commission
(C) University Grant Corporation
(D) None of the above
41h
41. If 5 of a cistern is filled in 1 minute, how
@&Emuch more time wil
west of it ?
=RCB(A) 10 second
(@) 15 second

1 be required to fill the

(B) 20 second
12 second

42. Total number of Krishi Vigyan Kendras in
Haryana
(A) 17 (B) 20
(C) 19 (D) 18

43. How many 5’s are there in the following
sequence which are immediately followed
by 3 but not immediately preceded by 7 ?
8953253855687335775365335
738
(A) One (B) Four
(€) Three (D) Two

44. Which of the following is not a parasite ?
(A) Tapeworm (B) Female mosquito
(C) Liver fluke (D) Lice

45. What is the number that should replace the

question mark ?

6 |8]12

10(2| 5

15| 4| ?
A) 11 (B) 20
©) 15 (D) 14

1.

CMES - S6
37. 7z frt fu sterl A F ST Al S
Fre @i wee &€ TAOBIROPN 5
(A) PROMOTION  (B) PRDFDUNNT
(C) PROBATION (D) PROMINE
\ i SR
® A) e (B) @ad T4
‘C) AvOq 4o (D) 3= g4
r 39, s wdfa 2 for weem S, B,

e 1 A1, Tad, M, i o 3 &
W e e e 6 e wrade wwed dn )

1(a) a7 @8 (B) F@ =N
(C) ¥vTere (D) 37e) hee
.39, U.G.C.# Prmmesaat ?

(A) gfrafifE ey FHeH

(B) gia maHe A
(C) gfaff ot FHRTE
(D) J%a & & & 7
th
AN mr@séqﬁm% | e d s g, S e
& WA 1 foraen g & ? _
(A) 10 T&e (B) 20 ¥
. (O 150Fe (D) 12 8&Fs
CH;  ehaon i s o o g i B
(A) 17 (B) 20
(C) 19 (D) 18
43. Fr=fafas e i e 5 ¥ fied gl ae 3 1ig
T TEw 776 R 7 .
a@_m‘@a‘a55637335_7753@_5"3 5
738
(A) T (B) IR
(C) = (D) 2
44. Frafafes 3 § SR-a v oot @2 7
(A) FramHf (B) wrE =t
(C) & v (D) 3
45. feume g & o wFe o gem A 7
68|12
10| 2
164 ?
(A) 11 (B) 20
(C) 156 (D) 14

T22
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46.

47,

48.

49.

50.

b1.

62.

T22

The technique in which the semen collected
ﬂ"um a healthy donor is artificially introduced
either into the vagina or into the uterus of the
female is called

(&) Artificial insemination
(B) Artificial Dissemination
(C) Ejaculation

(D) Natural insemination

The group of official languages of UNO is

(A) Latin, English, French, Russian,
Spanish, Arabic

(B) Chinese, English, French, Russian,
Spanish, Greek

(C) Chinese, English, French, Russian,
Spanish, Arabic

(D) Greek, English, French, Russian,
Spanish,Latin

There are only offences in the IPC,
which are punishable with death.
(A) 5 (B) 8
() 7 D) 6

is an alloy of Pb and Sn, which has
a low melting point.
(A) Brass (B) Pewter
(C) Bronze (D) Solder
At what time, between 8 and 9 O'clock, is
the angle between the minute hand and the
hour hand in 80° ?

(A) 8 hours 581—21— minutes

(B) Both (A) and (D)

(C) 8 hours 43% minutes

(D) 8 hours 29% minutes

The Head Office of National Housing
Bank (NHB) is situated at
(A) Kolkata
(B) New Delhi
(C) Mysore
(D) None of the above
is an application, which prevents
certain outside connections from entering
into the Network,
AA) Fire wall

}2]63] Digital sighature
) Becurity policy

(D) Dath recovery

Downloaded from www.cclchapter.com
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47.

49,

50.

a1l.

52.

TN

CMES _ g,

EEAGETIES Fﬂﬁ%mﬂwﬁ%
gaq o wﬁnuﬁaﬁmmnmﬁmﬁ?
o STET SR, FEAT 2 | !

(A) Ffm maiem e
(B) FHfam yan e
(C) v

(D) wiepfass naia™

g T § ) SRR W g
(A) @ifes, usf, H=, ==, |, s

(B) =1, 37sft, =, =1, |fm, o

(C) =, S7ish, =, =, T, ah

(D) ma;? a:i-a_‘sﬂ! ﬁﬁl Em!ﬁﬁa‘l!ﬁrzq
agdidt disaer _ AWHE T
g B

(A) 5 (B) 8

(C) 7 (D) 6

_ Pb 3t Sn i uF MU R,
Fraer v e e B

(A) didet (B) =gt

(C) =gl (D) Hiest
fipay wo #, 8 3 g =t & o= H, TF e 1 firm
afg =2 a1l & 3 e 1 HO 80° T ¢

INEEEER 58% fire
¢@3) (A) 3T (D)

3
(C) 8w 43 fie

1
(D) 8 FSTaL EQE fime

U@umﬁﬁ(NHBﬁFﬂﬁﬂﬁmfﬁﬂ
foum 2

(A) =reTeRTd]

(B) % feeett

o A g off 7l

D) Iuired H X
. e e 2, i S B A

e TR A W T R
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59.

36.

57,

B8,

it is the activity of someone becoming o part |
of & group rather than a separate f-n;itw' i
(A) Assimilation ‘ i

(C) Cohesion (D) Intepration '|

(B) Adaptation

The theme of Paralympics, was ‘

(A) World inspired by the Paralympics, one |
where many shine |

(B) World inspired by the Paralympics, we |
were differences shine

(C) World inspired by the Paralympics, one |
for differences shine |

(D) World inspired by the Paralympics, one ‘
where differences shine |

A fairly large area of arable land in the
jrrigated zones of India is becoming saline
because of

(A) Over irrigation

) Cultivation of same crop K ey |
C) Continuous croping of 4o ‘
) Use of excess fertilizers .

In this question, two statements are given |
followed by two conclusions. Choose the

Conclusion(s) which best fit(s) lo gically : |
Statements : |
1. Some statements are paragraph.
9. Some stories are not paragraph.

1. No story is paragraph.

II. Some statements are not story.
(A) Only conclusion 11 follows
(B) Both conclusions I and II follows
(C) None of the conclusion follows
(D) Only conclusion 1 follows

Conclusions : \

15 laborers can fill 35 boxes m 7 dnys.”How
many laborers can fill 65 boxes in 5 days |
(A) 39 (B) 13
(C) 46 (D) 66

The system memory o0 the motherboard 18
arranged in groups called the

(A) Memory chunks (B) Storage banks
(C) Memory banks (D) Storage chunks

P

bd,

56.

68.

CMES - 56

e ST ST I o A ot e A B
1 fafafi @

(A) fremrn (B) 31%‘:‘9“ ’
(C) THIE By 5

FrferfEr = A e A ‘
) 7 'miﬂ‘s{:jr e, &7 T
(B)E@ﬂéaﬁﬁzmﬁﬁﬁ.aﬁ
quiﬁﬂman
(D)ifsjmmzﬂn:iauﬁﬂﬁﬂm%m

m#ﬁﬁméﬁﬁﬁm‘@ﬁmﬁ‘@m
ﬁ%mﬁgm_ézmmw%? -
Eg;ii@%iwﬁ@m G
Eg;m%ﬂmﬁ;ﬁﬁmﬁﬁﬁﬁﬁu
ifﬁﬁﬁﬁﬁaﬁmﬂaﬂwgﬁ
CECRd

el
1_'@@"%‘3‘-1??(@3%1 5"7“&
gﬁﬂrﬁﬁu@ﬁﬁﬁﬁl ‘,.,;?:,‘

‘ETEF&: ’ :/

| = e ahess e R

1L gﬁmmmﬁf% L
(4) St T 11 S T |
(B)a‘rﬁlazfmlﬁﬁsriaqgwfﬁm%l
(C) Fré o e T FEE
(D) eyt Forard 1 STIE T R |

15 7o 7 foi 3 36 Tt T ER 5 fat 3 et

T 65 T A © 7

(A) 39 (B) 13

(C) 45 (D) 65

s w A fom e i o R, R
_ wwaR

(A) B = (B) @iw oW

(C) #ard R (D) RiE =%

T22
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61.

62,

63.

64.

65.

66.

T22

]‘t refers to the pattern of interrelations
between individuals
(A) Sccialisation

(C) Social institution

(B) Social role
(D) Social structure

63" Gramy Awards ceremony was held in
(A) Montreal (B) New York
(C) London (D) Los Angeles

The Monarch butterfly is highly distasteful

to its predator; the butterfly acquires this

chemical

(A) during its caterpillar stage by feeding
on 4 poisonous weed

g
(B) during its caterpillar stage by § %~
feeding on a nonpoisonous weed Adz(3

(C) during its adult stage by feeding on a
nonpoisonous weed

(D) during its adults stage by
feeding on a poisonous weed

If Monday falls on 5" of month, then

which day will fall three days after

the 26* ?

(A) Thursday (B) Monday

(C) Tuesday (D) None of the above

Which of the following coins are called as
small coins ?

(A) Coins upto 50 paise

(B) Coins upto 25 paise

(€) Coins upto 01 rupee

(D) None of the above

Most of the sources of energy we use
represent stored solar-energy. Which of the
following is not ultimately derived from the
sun’s energy ?

(A) Geothermal energy

(B) Bio-mass

(C) Nuclear energy

(D) Wind energy

The Sanskrit word ‘varna’ means
(A) Describe (B) Unique
(C) Difference (B) Colour

In cyber law terminology ‘DoS’ means
(A) Denial of Service

(B) Distant Operator Service

(@) Disc Operating System

(D) None of these

-10-
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T8 wfFaEl & o= siarmEe % ded & dahia
F@T B
(A) FETHE (B) @ i
(C) T gear (D) @I G
63 = 7t =TaTE THIE FEA o
() wifgae (B) =gare e
(C) e (D) =g Goied

A faaet 31 el & o 3= =9 @ @eer

o 2; faeell 39 WEd =i e

FHTE |

(A) us faurad @UaaN &l @R 319 goell
qrEEYl F aH

(B) T THuE GER i W A goe!
YTEET %

(C) Te T TRuqaT i TIE AT 795
T 3 FH

(D) T faruTe IR i W 3T T
WrEET & AR

af WE 1 5 AT w1 WIAER 9T § | 26 aE
3 o fot are A-ar & g8 ?

(A) Feeafaanr (B) ®HER

(C) TTEER (D) 3I90ga & 1§ TE
Frerfafiag § & Sa-a1 foww 912 e
HEATd B ¢

(A) 50 ¥ o & foaas

(B) 25 %4 a= = fa=h

(C) 01 F0 o & fa=%

(D) 39tiEd # 4 F1§ T

T g0 g ety |ia Herfid € sl i
2 | Frefafes 1 @ F=-w1 aqq: gd @ o= 7
& ?

(A) gt F=i

(B) =g ¥

(C) =firfi F=it

(D) 9= Sl

T e i a3 2

(A) aviF FT (B) sfd

(C) HW (D) T

g FA i =graeft # ‘DoS’ 1 waeE 2
(A) feamse arfw wfdfg

(B) fewde s1iqier afidy

(C) Te== w1 famm

(D) 578 & &1s 98
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69.
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73,

14,

Which of the following State Governments

has lm.mChP‘d, “Rajiv Gandhi Grameen
Bhumihin Majdur Nyay Yojana” for land
Jess labourers ?

(A) Arunachal Pradesh
(B) Sikkim B
(C) Chhattisgarh b
(D) None of the above o

[a]"¥i[m]

If the day before yesterday w y
when will Sunday be? PRSARER
(A) Today

(B) Yesterday

(€) Tomorrow

(D) Two days after today

On dividing 50 into two parts such that the

sum of their reciprocals is —1-. we get the
12

arts as
(4) 36, 14 (B) 20,30
(C) 28,22 (B) 24, 26
are the programs that generate threats
to the computer system and precious data.
(B) Virus
(D) Cracker

(A) Hacker

(C) Malicious codes
According this Fundamental Right of Indian
Constitution child/forced labour is abolished
(A) Right to Equality

(B) Right against Exploitation

(C) Right to Education

(D) Right Constltutional Remedies

The difference between 89% of a number and
73% of the same number is 448, Whatis 49%

of that number ?

(A) 1426 (B) 1124

(C) 1218 (D) 1372

Kappa and Delta variants of Covid-19 was
first identified in which country ?

(A) Bangladesh

(?) India

(€) Brazil

(D) None of the above

What is the minimum numbe
to cut a cube into 150 pieces 7
(4) 17 (B) 15
(€) 16 (D) 13

r of cuts required
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67.

68.

69.

70.

71.

72.

73.

74.
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®) fafFFn =810
(C) SETe
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(A) 3T
(B) el g F
(C) Fe .
(D) s AR
eCCd
5mamﬂﬁwwﬁmﬁ‘m?§ﬁ
13 QamE
el 1 AT T
(A) 36, 14 @) 20,30
(C) 28,22 @) 24 26
L ,ﬂwwﬂw
<721 % forg @At F@ e |
(A) T (B) I
(©) F (D) e
ﬁﬁmﬁaﬁ?ﬂn‘rﬁﬁaﬁWﬂaﬁﬂm
waﬁmmﬂmw%?
(A) T i AR
(B) ¥ fgars ATHR
(C) faner a1 AT
(D) ﬁuﬁﬁmﬂaﬂﬂfm
ﬁé@naasg%aﬂxaﬂmwawa% F &= Al
aim44a%1ma'@ﬂaat4g%am%?
(A) 1426 (B) 1124
(C) 1218 (D) 1372
a?rﬁs-laaﬁlmai‘ﬁ%mﬁﬁqﬁﬂmﬁm%m
# qg=m T
(A) =Eed
(B) Wmd
WELLS!
(D) Fo0 A & FI§ Tl
‘Iﬁmaﬁ! lﬁﬂgﬂﬁﬁm%maﬁam;ﬁ
A T
(A) 17 ®) 15
(C) 16 (D) 13
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80.
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— deals with combating terrorist financing.
(A) Import and Export (Control) Act, 1947

(B) Unlawful Activities (Prevention) Act,
(UAPA) 1967

(C) Prevention of Corruption Act, 1988
(D) None of these

Dr. Rajendra Prasad Agriculture University,
adopted a model in Madhubani to check pollution
in villages, It is

(A) Sarala model
(C) Suction model (D) Sukhet model

The smaller the the sharper will be
the image when displayed on the monitor.,

(A) Pseudo color (B) Aspect ratio
(C) Refresh rate (B) Dot pitch

A belt of marshy ground and vegetation on
the lower parts of the alluvial fans is called as
(A) Terai (B) Plateau

(C) Playa (D) Humus S

The Prevention of Money Launderc:]n&émfkct
(PML), 2002 was passed by the Parliament
of India in

(A) December 2002
(C) December 2004

(B) Delhi model

(B) December 2008
(ID) December 2003

The Inter Tropical Convergence Zone (ITCZ)
(A) Attracts inflow of winds

(B) Repels water vapours

(C) Attracts water vapours

(D) Repels inflow of winds

Question below consists of a question

and three statements numbered I,

II and III given below it. You have

to decide whether the data provided

in the statements are sufficient to

answer the question.

What is the code of ‘use in the code language’ ?

L In a code language ‘water is clean’ is
written as ‘va ye ha'.
I In the same code language ‘milk is

white' is writteh as ‘da ha te', .

III. In the same code language 'use clean
water' is written as 'ye to va'.

(A) OnlyIahd IIT  (B) Only1andIl

(C) Only IIand IfI (D) Nohe of these

=1B-

75.

76.
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78.

79.

80.

81,
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e fad 4 oied g dafud 2 |

(A) ¥marg g Fafa (Faew) sfufmm, 1947

(B) sreiipe v (BEw) w@e
(UAPA), 1967

(C) wezrem 7fufaam =it Tenym, 1988
(D) T8 8 w1E 7

=, 79z yaE S Gyafiaem 3 S

# guw W A ¥g TYA A O AE
IR TE R i
(4) ween Hisw (B) fegl Arsw
(C) weH Hew (D) e Hiew

form Brer g, wiHfter w gwii s w
witTee Io-1 ¥ g
(A) BT (B) wee] g
(©) fir = (D) =fefi=
STeig T ¥ Freret s ot et vfi si s
1 T Y FEardl
(A) wd (B) TN
(C) weman (D) &=§

v Frem stfufae (daeer), 2002 wmE S
He g e aritd o a7

(A) fem=T 2002 (B) f&g=t 2008
(C) feg=t 2004 (D) feg=x 2003
T LT e S (378 A FE)

(A) STg 36 WATE I TR F R
(B) wie7 a1y = fyerfiar = 2
(C) STe a9 ! AT Fia 2

(D) 97Y 3ie: Ware @i fawita w2

ﬁn%ﬁgamﬁqmmﬁﬁwmﬁ@ml. II

R I = fo e &) st ol o 2 fF 7

il | féan e st v s B R i Y

"B M A wEnT f e w0

L FEIMIH ‘water is clean’ #! ‘va ye ha'
feran gam 2

II. 3 2 9191 & ‘milk is white’ 1 ‘da ha te'
& w9 # frar s @ |

II1. 3t 2wt H ‘use clean water' 3 'ye to va'
o s

(A) Faw | offt 111

(B) Faet 1ot 1l
(C) % 11 3ttt 111

(D) T3 ] %Y =i
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86.
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oA Harsh
g;r'f;g{m Shallow

-

88.

89,

80,

. - L K ) 5 -

The sum of infinite series, 5+ ot ED" b
A& 4 (B) 6 .
o7 (D) &

yrinter uses t .
I;m' glmd it prints une}imﬂifes:' af ;:li?nng
(a) Dot matrix (B) Inkjet -
(C) Drum (D) Daisy wheel
Who called as “Morning Star of Reformation ?
(A) John Calvin -
(B) Zwingli

(C) John Wycliffe
(D) Martin Luther King

As per IT Act, private key means the key of

a key pair use
(A) Key pair
(B) Public key

(C) Certification Authority

d to create a

(D) Digital Signature

Which of the folluwing States has recently
became the third State in the country to get
clean tap water 1n every rural household

under Jal Jeevan ?
(A) Haryana (B) Rajasthan
(C) Himachal Pradesh (D) None of the above

Attack : Defend : : Deep : 7
(B) Rejoice

(D) Alert

The number of arrangements of the letters
of the word SALOON if the two O's do not

come together 18
(A) 360 (B) 120
(C) 240 (D) 720

th
1
A radioactive substance decays to [IEJ of

its initial activity in 40 days. The half life of

the radioactive substance expressed in days is
(4) 10 (B) 2.5

(O] (D) 20

The ‘Agenda 21' a list developmental practices
are introduced in earth summit held in

(A) Cape Town (B) Rio

(C) Johansburg (D) Nairobhi

13-
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@ FLT

(B) el

(C) T ST
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(C) Femrarel ST D) v 3 & A
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88. uﬁa"roﬁmwﬁaﬁ%a‘r SALOONW%?

wﬁﬁmﬂm-ﬁm%

(A) 360 (B) 120

(C) 240 (D) 720
g9, T ifedudl ward 401?:a‘iﬁaaﬁﬁafrtﬁﬁ%m$r

th
= mmﬂm%tw’c%ﬁ\mﬁmﬁﬁam’rg
16

fit 3 srfvrea B

(A) 10 (B) 2.5
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(C) Sirerde (D) ¥
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English Language

[Fill in the blank with appropriate word from
the alternatives given below it,

[ will do this without delay,.
(A) farther (B) latter
(C) later (D) further

In the following question, a sentence has
been given in, Active/Passive voice. Out of
the four alternatives suggested, select the
one which best expresses the same sentence
in Passive/Active voice.

Who will help him ?

(A) By whom he shall be helped ?

(B) By whom he will be helped ?

(C) By whom would he be helped ?

(D) By whom will he be helped ?

Below given idiom followed by four
alternative meanings, marked (A), (B), ©)
and (D). Mark the one which you think is
the most appropriate.

A bone of contention

(A) an act of submission

(B) an act of gratitude

(C) a subject of dispute

(D) an area of agreement

Fill in the blank with appropriate
formofthe verb from the alternatives
given below it.
The meeting

(A) broke with
(B) broke up
(C) broke down
(D) broke out

in great confusion.

Fill in the blank with appropriate modals
from the alternatives given below it.

He

(A) can
(B) need
(C) would

(D) ought

outdo every competitor.

1\
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%ﬁ%
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(A) feo -
(B) degew
(C) H=rfiva

(D) 3 & 1 9

mwﬁaﬁmﬁmﬁﬁ\rﬂaﬁ

T EHEAR |

(A) S9=RR

 (B) Fhw

(€) IeHR

(D) ¥ ¥ =18 7

A W FETS T R
FEATI § |

(A) THEIIE
" (B) TR

(C) 3w

(D) FHARE T

99— fd e v e e = s e v

100.

¥ F FW F o | F+A wr Ay AR, =
| — frad=wwad
_(A) wrdwIfe

(B) g

(C) Jumefes

(D) ¥4 q % 7
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(B) &
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(D) 38 & &Id 7
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